



































































































































Cont'd fixy oxy 4
3
35

Interiorcritical point It withvalue fest

Boundary
i

10,0 1,0

I 14 0 Ofyet flo y 35

510,17 31 410,9710 710,0

21 14 0 Of Xfl f x O 4 3

4 711,0 I fix 0710 710,0

3 XI Ofgel fll y by 4 392 3 y 15 1

511,07 4 E fay E 1 511,1 Ig
4 19 1 OfXel fix 1 6 4 3 3

O day fix 1 6 12
2

X f I rejected as
OfXE I

fit 1 4G 3 3 252 0 check

10,1 3 fly 1 C 3 2521

3 510,1 E FIX DE ft 1 3 252

Compare values

Global max.pt t with value

Global min Pt 1,07 with value 4 A






Matrixform for 2ndorderTaylor Polynomial

Ref Let fr IR be C RER open

Then the Hessianmatrix of f at der is

Sy x la fx nlds
oHfa

pya

Remarks i Afca is an symmetric byClairautsthm

2 In Textbook Hessian off det Atla

So we emphasize our definition is a

matrix More common in advancedlevelmath

eg fix y at 10,0

Hf10,0 Fxx10,0 fxy0,07

fyx10,0 fay o o
fy fix

x y Fxx10,0 txy0,07My
fyx0,0 fyy 0,0

fxetzfxycopxytfyyo.ge
2ndorderterm at Taylorpolynomials uptoafactat



2ndorderTaylorpolynomialof fate inmatrix form

Pelt feast Ffla F Alt E E'sAfia Ea

Where Tf al regarded as rowvecta Ttx las fatal

ta regarded as column recta Y an

E IT is the transpose Tx a xn an
row recta

of Gexy fly Find Paixy at 11,0 usingmatrixform

Soh g 1,07 0

Fg Ex 3,5 5xd y EY

its Yg 94,1 1
tags x'age

xity EY I
Iga o 41,03 Hgh o I 81

i Pzlx.gs 94,07 794,0 FI
TX I DJHGHoff

o I 05kg1
t ETH Df f y

x D E X 1St X DY Check


